THOFEIHEESRAFIGER (BE3FEDEHEINIL)
EATAY (B EXMEST)

REE

T

Hix

REPK

NN

E=F)N

7
2

JUINA

BEA

2

sLBIR

=aFA

FH=A

RAEEX

EHA

SIS U=PN

AR L=

N_\

AREE R

—_—
—_—

ZEFEX

ZRUFA

AR AR

NS] I (6)](0'0] (\V)

BIRA

EEX

E%IZU(

_\_\_\N_\_\

ARATA B i

PN SRV

wjot

REPFILAF

EBEET X

BEmINERE

BWEEIIR

ZREIX

BEVLEXR

PRREIIEA

* PERFIR

* RN EEEAF

37

37




FRMIUARDENGHERER(CER-FENEED)

R6E R6E RAE
% SBA s SBA G SBA
EFA 132 6 92 3 71 )
BEEISHN 48 4 39 6 37 1
EERImN 45 1 ) 11 36 8
_Lnllﬁ?j( 20 26 6 20 5
EEA 295 3 246 10 196 19
EEEALE St 540 14 417 36 360 41
REERA T 20 13
A 13 8 12 1
SFAUN 52 74 3 68 2
[ ETE A 66 0 102 3 03 3
AR R 3 3 ]
BEX T
E N 1
EmA 27 106 5 101 3
HRFREAR 6 5
NEEISEICTN 12 16 40
EEIETS 1 1 26 8
TR 47 55 28
XAX 19 30 14
EEEin e N 29 24 2 24 3
REPLZF KX 8 1 9 5 1
eIl a PN 26 19 28
ﬂliliﬂ%ﬂjc 3 2 6
IS 3SON 5
[GEAON 1
NN 12 1 15 1 17
NN 2 2
PIAESIA 3 17 3
PN 19 25 19
AR EE A 4 5 3 1
INREN 3 1 11 2 18
PN TN 16 50 13
FREZLA 1 2 3
PN R TN 1 8 1 11
FEITREDERE AFERRE BEED
K=Z2, N e A B AN
- it NS 138 52 30
F.*EJ AT 52 25 13
% BIEARTE 46 26 13
i _Lupﬁﬁj(% 20 17 6
ré ﬁjcjz 208 95 22
= 554 | 209 86
e R%BF%?V% 1 1
$ AT 13 8 3
25 BEAKXFE 52 40 7
i =i 66 49 10
+ BEAT 27 9 7
€ ABRFEAAF 16 7 ]
ﬁw BRKRF 41 17 5
ot XIKE 19 13 5
5l Bt 703 40 T2




